‘5™ Grade Math

Week of January 11 - January 15, 2021
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* Please do not complete until advised by teacher*






January 11, 2021

Sharon’s Stationary Store has 1,219 boxes of cards. The store’s other location has 3 times as many boxes of

cards. How many boxes of cards do the two locations have in all? Think: What do you have to figure out first
before finding the total?

Answer (with unit):

Equation that matches your work:

Explain your thinking:




Monday, 1/11/21 Exit Ticket Lesson 6-1
Find each quotient.

1. 581.3+ 10 2. 581.3 + 102 3. 581.3+ 103



D’a\@?’.‘

- A AR A
Name g%%?\%ym | AL o) l
Additional

Practice 6-1
Patterns for Dividing|
, k\wz‘i’&lha Decimals

15

To.divide by 10, or 107, move the decimal point 1 placé to the left.

To divide by 100, or 102, move the decimal point 2 places to the left.

275+ 100 = 2,75 = 2.75
A0

Sanjai uses 2.75 pounds of clay for each bowl.

2.20+_ . =2 3. +10=$675

250+ =25 20+10%2=__ $675+__ =$6750
___+10=25 20+-103=__ $6,750 +10%2=_

25:10=_ 20+10%= $6,750 +103=

4, 9,600+101=
960+~ 101 =

96+ 10! =

96+10"=_ -

7. 4100 8. 15100 10. 60+ 100

11. 5510 12. 30.9+ 100 13. 8,020 + 102 14. 150+ 103

15. 16+ 103 16. 1.8+ 10! a
17. 720 =100 18. 3,500 = 104

1. 2,500+ 10 =

5. $800+  =$80
_+10=$8
$8+10=_
$0.80+10=__

9. 450 +10
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6. 1,200+103=__
120+ =12
= 10T=12
12+10%2=
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January 12, 2021

Mrs. Forbes has to choose a payment option to purchase her new car. One option is $325 monthly and the
other option is $952 quarterly. Which of these options will cost less for 1 year? How much less?

Answer (with unit):

Equation that matches your work:

Explain your thinking:




Tuesday, 1/12/21 Exit Ticket Lesson 6-2

Estimate each quotient.

1. 3442 =5 2. 804.12+41.3 3. 49.6 +9.85



Name | f@’ = 4 gL
. : Jfrodice  Video K
| Additional
13 1 I -‘O)
Anotherlooky | Practice 6-2
Estimate Decimal
Quotients
N
| Estimate 28.4 + 9.5, . 25
| OneWay | | AnotherWay
Use rounding. Round to the nearest Use compatible numbers.
, whole number. .
' 284 +95 Write the original problem.
284+95 Write the origihal I
‘L ‘!’ problem. 27 + 9=3  Use compatible numbers:
28 + 10=28 Round 28.4 to 28. -
~Round 9.5 to 10.

1. Estimate 52.3 + 11.4 using rounding. 2. Estimate 52.3 + 11.4 using compatibl
' numbers, '
523114 - | 523:114

o

4. 59.67+11.1 5. 82.77+75

6. 496.3 + 98 - 7.176+091. . 8.13.07+741

9. 413+6.76 10. 81.4+10.03 11, 3844+ 88.1
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January 13, 2021

A school district is replacing all of the desks in the fourth and fifth grade classrooms. There are 3 fourth grade

classes that each need 26 desks. There are 2 fifth grade classes that each need 24 desks. How many desks will
they need to replace in all?

Answer (with unit):

Equation that matches your work:

Explain your thinking:




Wednesday, 1/13/21 Exit Ticket Lesson 6-3
Divide.

1. 135+3 2. 5.16+6
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Draw a model to help you find 3.25 = 5. Use Modelsto
Divide by a 1-Digit
Whole Number
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3 ones, 2 tenths, - 32tenths and 30 tenths and
and 5 hundredths f 5 hundredths . 25 hundredths
WhatYouWiite
o o 065 Think:
é é’ 5)325 Each equal share
o o —3.00  hasé6tenths and
g 25 5 hundredths.
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' 3. 3)79] 4, 4657 5. 70226 6. 4755
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January 14, 2021

Martin ran 107 miles last year. Katrina ran 13 times as many miles as Martin last year. How many miles did
the two friends run in all last year?

Answer (with unit):

Equation that matches your work:

Explain your thinking:




Thursday, 1/14/21 Exit Ticket Lesson 6-4
Divide.

1. 782+17 2. 12.74+13



Name

AnctherLook!

The area of a sketch pad is 93.5 square inches. The
length of the sketch pad is 11 inches. What is the

width of the sketch pad?

€000 [
Pradite  Video  Took  Gomes Addlt@ﬂ@—” .
Practice 6-4

Divide by a 2-Digit
kWhoﬁe Number

Divide 93.5 by 11. 8 0.5
8.5
11)93.5
—88.0 {
“5.5 11 88 5.5
-55
0
8.5 is close to the estimate of 9, so the
answer is reasonable. A A
11 x8=288 11xX05=55
The width of the sketch pad is 8.5 inches. 93.5-88=55
L[] [ L[] ik
1. 23)71.3 2. 80)192.0 - 3. 42)23.94 4. 18)40.50
milil -0 -~ O] - 00
00 00 0] O
~[1.] -0 = U - [
0 0 0 DD
0
5. 26)98.8 | 6. 17)14.62 7. 25)157.5 8. 13)113.1
9. 83.2+26 10. 256 -4 11. 90.54 - 18

12. 225+ 15
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Friday, 1/15/21 Exit Ticket Lesson 6-5

1. 8.8+0.22 2. 86.4+0.1
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3.5

3

2. 45.5

0.35

1. 455
4..Describe the relationship among Problems 1, 2, and 3.

7. 0.01)8.64 8. 0.1)86.4

6. 3.2)19.2

5. 0.32)1.92

10. 2.2)8.8 11. 0.22)88.0

9. 0.22)8.8
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Enrichment



Namve: e S - _ Date:_

Tore or Less?

| Directions: Answer each question.

€@ What number is 10 times greater than 27 ' |

@ What number is 100 times greater than 27

@ Describe the relationship between 2 tens and 2 hundreds. Explain your reasoning.

€ What number is % of 37

€& What number is % of 0.3?

& Describe the relationship between 3 tenths and 3 hundredths. Explain your
reasoning.
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Ten

;f*? . @ What number is 100 times greater than 57

'@ Describe the relationship between 5 tens and 5 hundreds. Explain your reasoning,

@ What number is 1_10 of 9°

@ What number is 116 of 0.97

® Describe the relationship between 9 tenths and 9 hundredths. Explain your
reasoning.

OTeacher Created Materials - 21206—Focused Mathematics—Student Guided Practice Book



o1 iDife.éﬁdnS:'-Choosié True or 'Fall.s‘e for each -statément.

€D The underlined digit in 4.44 is 10

@ The underlined digit in 333.33 is 0
times more than 4 tens.

of 3 ones.

@ The underlined digit in 2,222.92 is @ The underlined digit in 5,555.55 is
15 of 2 tenths. 10 times more than 5 hundredths.

@ ®

| Directibnéz Sol_vé the prbblem.’

@ Samira studied the mileage on the family car. The mileage was 888.8. Explain
the relationship between the number of ones to the number of tenths of a mile.
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]g);iréctions: Answer the questions. Use scratch paper to help you find the answers.

@ Find 10 of 2.

Step 1: You have 2 whole pieces of paper. Divide each paper into tenths.

Step 2: Shade in % of each paper.

How many parts are shaded?

What is Tlo of 27

Step 1: You have 3 whole pieces of paper. Divide each paper into tenths.

Step 2: Shade in % of each paper.
How many parts are shaded?
What is % of 37

1
Complete this sentence: is 10 of 3.
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